Action Physics Chapter 5 Test   Problems - Discussion - Etc.   Name _______________________________

1 A car has a weight of 327 pounds. The force of friction between rubber tires of a car and a concrete road is 287 pounds. What is the coefficient of friction?

_______________

2.
The sliding mass is 6.7 kilograms. The hanging mass is 4.7 kilograms. What is the acceleration of the two bodies?  _______________
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3. Dr Taylor, a skater, with a mass of 70-kg, is able to exert great forces as he accelerates.

a. If he exerts a force of 175-N, what will be his acceleration? _______________

b. If he is able to reach an acceleration of 15 m/s2, what force will he need to exert to do this?  _______________

4. Which encounters the greater force of air resistance---a falling elephant or a falling feather? Explain.

5. What will be the acceleration of a rock thrown straight upward at the moment it reaches the tippity-top of its trajectory?  _______________

6. Mrs. Andrews has taken up sky diving. As she falls faster and faster through the air, her acceleration:

a.  increases        b. decreases        c. remains the same      (circle the correct answer)

7. Two smooth balls of exactly the same size, one made of wood and the other of iron, are dropped from a high building to the ground below. The ball to encounter the greater force of air resistance on the way down is the

a.  wooden ball        b. iron ball        c. … both the same      (circle the correct answer)

8.
A 2-kg rock is thrown at 10 m/s straight upward. Neglecting air resistance, what is the net force that acts on it when it is half way to the top of its path?   _______________
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